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Experiment 8. Discussion - answers 

The fresh mass of the seedlings increases, but the dry mass diminishes. The decrease can be attributed to the use of stored food in respiration and the subsequent loss of carbon dioxide to the 

atmosphere. The bulk of the seedling will obviously increase but this is at the expense of raw materials extracted from the endosperm. Growth is a result of cell division and cell enlargement, the latter taking place as a consequence of the uptake of water and vacuolation of the cells. The increase in fresh mass is therefore largely due to the incorporation of water into the tissues. After two weeks, the leaf area is large enough for the rate of photosynthesis to exceed the rate of respiration and the dry mass will start to increase as carbon dioxide is fixed faster than it is lost. 

